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I Semester M.A. Examination, Februarv _ 2O2O

(CBCS Scheme)
DCONOMICS

Paper - L.4 z Mathematieal Methods For Economists
Time : 3 Hours

Insttttctlon : Ar.swer qltttrc ports.

Max. Marks : 70

?,rod _ o i PART_A
d$nd oJm{aod&o od& dd4ilgzi e,DdO$O. 2xS=1O
Answer any two of the following :

t. dod>d€ i*doeodd$u dodarodO:r.
Deline market equilibrium.

; 2. &oc$ zderdd d0{d d$d: rto{do$db4 AdoA.
Explain maxima and minima of a function.
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3. erd:doe;ddaad errroadddrldnoozi eroz,jd eroao$dabu ooran&$.
Deline marginal revenue with suitable examples.

4. erddsd aoddedr ? ufira{d$ erdd u{olodrtd D{ ee$o.
what is differentiation ? S-late its apprications in'economics.

s'F?i-E/PART_B
o$o$ood&o d$nd dlJocb dd4i.leri e,DdO:rO. 3xto=30
Answer any three of the following :

5. E9nd aje@d drd: Oe@d deceddeoz.rgri d'cbd€ sjej an6 gidoeodd:o dod)baosoo.
A=LO-2x

o/
a:7gx+r
Find the market. equilibrium price and quantity for the fonowing demandand supply functions.
a: 70 -2x

o' /
a:73x+r

P.T.O.
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2x15=3O

aparddrl gso *odja"aooo.

determinants.

xr*2xr- x":2
2xr- xr*3x":5
- xr*2x"1 x"=7

Solve the following set of simultaneous
xr*2xr- xr=2
2xr- xr*3x":5
- xr*,2x"* xr=7

11. erQFd ageddo$g rtsd9eo$
Explain imPortance of the

equations using Cramer's rule'

a@drld ddgd$4 ado:,.
mathematici miUeoas in economic analysis'

Find
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24
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7. e"o$ idEd OoJDdd q=50-Sp-p2aod: €rldrd'oodd sjeio1>: p=1a5Q p:3

eogrl a3eB€o$ r68Fooddd;d$d dod)&Bo$o'

Find the pri"" 
"u"tf 

or"a"-"rrd fo_t 
" 

product whose demand function is

q:io-sp^-p' "i Pti;; P:1 and P:3 and interprete your results'

E. SSnd r3e$E* Ttoqd d:dl dO{do$$d dodrbBooro'

A=2f -zf -36x+ 10
Find the maxima and minima of the function g--2f -3f -36x* 10'

g. u:10qrqreJn6-*rl q,al:q qrrlgTi dodFsddd Fododd aiea*o3: ?losJdrlddJd

dod)bBocoo.
obtain the ordinary Marshallian demand function for 9, and 9z gven u: 10qr9r'

Forl-A /PART-C

ddnd oJodlaod&o odd dd4rlgn ert:dot)o'

Answer ary two of the following :

10. ddit d.raeldrd ialeddeort€$* gd>o" bo$dr a)dtu EBlr'
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12. ddnd doodo dal $oarddd:o d0d7toe,1, dOd noodo

d{d* ndodaandgd ad:*dddr* droeotu.

A. -Lo - 4x3 +3x4

Minimise the following average cost function and show that at the minimum
ofAC, AC:MC.

gc:ro - 4x3 +gx4

13. ddRd giead a$eb O€aE aoDdd6bo x:22O-Spdbq r:3p-60;od: d'odenfld.
drodbdal sSei d)dl gidoeodd:o dod)baobo. de drjdd* { 5 d dorio$d:u eQ:,ooil
eruot@i$d don ndbeoesd s,JeJ d:{ Sidoeod$4 dod)bao$o.
Given the following demand and supply functions x:22O-3p and x:3p-60.
Find new equilibrium price and quantity, if a specific tax of { 5 unit is
imposed on supplier. Calculate tax revenue to the govt.
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